_ . irst Semester Final Exam
University of Damietia, Faculty of Commerce Model (1 20;4‘_2015 First .
English Section Program 1™ Level @ (o)u::s:iozls Principles of Financial Accounting 1

1. What is the time period assumption?

a Companies should recognize revenue in the accounting period in which it is eamed.
b. Companies should match expenses with revenues. )
c. The economic life of a business can be divided into artificial time periods.
d. The fiscal year should comespond with the calendar year.
2. Whica of the following is a twelve-month reporting cycle that can begin in any month, except January 1,

and records financial data for that twelve-month consecutive period?
b. 1 Fixed vear

[b. | Interim period | ¢. | Calendar year

[ d | Fiscal vear )

3. Entries that are made at the end of a period to correct accounts before financial statements are prepared.
{2 [ Closng entries | b. | Adjusting entries | c. | Reversing entries

| 4 | Journal entries |
Use the following information to answer the next 7 guestions

The general ledger of Omar Company, on October 31, 2024, includes next selected accounts before

Debit Credit
Prepaid Insurance $2,400
Supplies 3,900
Equipment 25,000
Accumulated Depreciation $5,000
Unearned service Revenue 9.200
4. 1f the prepaid insurance covers a period of one year from October 1, what is the adjusting entry for
i October?

2. Dr Insurance Expense, $200, Cr. Prepaid Insurance $200.

b. Dr. Insurance Expense 52,400, Cr. Prepaid Insurance $2,400.
c. Dr Prepaid Insurance $2.400, Cr. Insurance Expense, $2,400.
d Dr Prepaid Insurance $200, Cr. Prepaid Expense, $200.

5. If Supplies on hand total at end of October is $2,200, what is adjusting entry.
2. Dr Supplies $2,200, Credit Supplies Expense $2,200
b. Dr. Supplies £xpense $3,900, Credit Supplies $3,500
c. Dr Supplies Expense $1,700, Credit Supplies $1,700
4 Dr Supplies $1,700, Credit Supplies Expense $1,700

6. What is the journal entry to recognize equipment depreciation of $200 for October?
a.  Dr Accumulated Depreciation, $200, Cr. Depreciation Expense, $200
b. D Depreciation Expense, $200, Cr. Accumulated Depreciation, $200

c. Dr Depreciation Expense, $5,200, Cr. Accumulated Depreciation. $5,200
d. Dr. Accumulated Depreciation. $5,200, Cr. Depreciation Expense, $5,200

7. Depreciation is generated due 10

(2 | Wear and tear [c. | Decrease in the market value of ;m%
[b. | Decrease in capital [d [Increase in the market vatue of plant assets

% How much is the book value of equipment to be reported on the balance sheet on October 317
(2 [520.000 b 530200 Te 1%25,000

g What is the type of accumulated Depreciation?

[ | Asset account | b. | Contra-asset account | c_| Liability ac::.atmL‘l—d_jziﬂ?\i‘)’,’_“?j'EJ

[d. ] 519,800

I
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revepue reported?

a Dr. Uneamned Revenue $4,000, Credit Revenue $4,000
b. Dr. Revenue $4,000, Credit Uncamed Revenue $4 (gg
¢. Dr. Uneamed Revenue $5,200, Credit Revenue §5 200
d. Dr. Revenue $5,200, Credit Uneamed Revenne §5 200

11, What is the adjusting entry for the accrued rent expense of $9007
a Dr. Rent Payable $900, Credit Rent Expense $900
b. Dr. Rent Expense $900, Credit Cash $900

c. Dr. Rent Expense $900, Credit Rent Payable 900
4 No entry is required.

10. What is the adjusting eatry for services performed in e

fi
Or 34,000 of the unearned service

12. What is the effect on the accounting equation if the adjusting entry of unearned revenne was omiriedy
a.  Revenue is understated and liabilities are overstated Omutied?
b.  Revenue is understated and liabilities are understated

¢.  Revenue is understated and liabilities are overstated

d  Revenue.is overstated and liabilities are understated

13. The journal entry to accrue salaries expense is
a  Dr. Salaries Expenses and Cr. Prepaid Salaries
b.  Dr. Prepaid Salaries and Cr. Salaries Expenses
¢.  Dr. Salaries Payable and Cr. Salaries Expenses
d.  Dr. Salaries Expenses and Cr. Salaries Payable

14. On August 1, a company borrowed 330,000 from a local bank on a 15-year mortgage at 10% znnual
interest rate. How much is the interest expense for August?

[a Ts2.000 | b. | 545,000t lc. | 8250 [d ]$3.000 K

15. What is the adjusting entry for revenue for services performed but unrecorded of $1,100?
a. Dr Service Revenue and Cr. Unearned Revenue

b. Dt Accounts Receivable, Cr. Service Revenue

¢. Dr Service Revenue, Cr. Accounts Receivable

d. Dr. Unearned Revenue, Cr. Service Revenue

16. After the adjusted trial balance is prepared, the next step in the accounting cycle is (o
| a | prepare the financial statements

|b. | prepare the closing entries

c. | prepare adjusting entries 4
d. | post the adjusting eniries =
17. Accounts with balances that are transferred to future periods are.

| a | Expense accounts

. [ c. | Temporary accounts jd_{
\_b. Drawings accounts {d. Permanent accounts

18. The temporary accounts are:

Ei Assets, Liabilities, Capital
b. | Revenue, Expenses, Assets, Capital

—

¢ | Revenue, Expenses, Income S Withdrawals |

e
d. | Revenue, Expenses, Net hcouﬁ"%@

19. A post-closing trial balance could include all of the following EXCEPT the o N
E Accumulated Depreciation

| ¢ | Owner's Capital
['d | Accounts Receivable

Depreciation Expense

20. Closing entries reduce the Capital balance to zero.
a4 True b. False
21. How do you close a revenue account?

chi_l Revenue, Credit Income Sumumary
b. | Debit Income, Credit Revenue

¢. | Debit Expenses, Credit Revenue
d. 1 Debit Revenue, Credit Eénss,
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22. If you have 3 55,000 NET LOSS, what would the entry be to CLOSE Income Sutfﬁ:gmc Summary
a_| Debit Income Summary, Credit Capital c._| Debit Capital, C“d’dﬂ Capital

b_ | Debit Assets, Credit Liabilities d_| Debit Revenue, Cre

able payables are listed under which @ego_ry?
¢. | Long-term ligbilities
d | Other Liabilities

h
000. The Cas
- the company had cash receipts of $35,000 and cash payments of $20,

31 of the
gmnlug of the period was company’s beginning cash balance at December
curent year was $65.000. Wh

al was the company's ending cash balance?
= 15000 Th sehow e [sssow  [a [siog0 ]

, _ car appear’
25. Under which of the following categories would bonds held as investment for more than
2 | Current assets

c. | Long-term investments
b. | Long-term liabilities d. | Short- term investments

23. On balance sheet, salaries ang (ax pay
[a [ Current assis

[b. | Current Liabilities

24. 1a the current year
available 2t the be

26. In a classified balance sheet, assets are usually classified as: i ;
current asscis; long-term assets; property, plant, and equipment; and intangible asset:-m ik
corent asseis; long-tem investments; property, plant, and equipment; and common
uTent assets; long-term investments; tangible assets; and intangible assels. et
cument assets; long-term investments; property, plant, and equipment; and intangible ’
27. Copyrights and Franchise are

po PR

{2 [ Current as3ets c. | Long-term investments \
' b. ! Intangible assets

d. | Property, plant, and equipment

2R In 2 perpetual mventory system,
crediting:

(2 TPurchases _ [ b. [ Purchase Retumns [ c. | Purchase Allowance |d | ventory I
29. Both purchase returns and allowances decrease the merchandiser's inventory cost

a True b. False

the return of defective merchandisc by a purchaser is recorded by

30. The cost of goods sold is determined and recorded each time a sale accurs in'
& popetual inventory system only.
b.  periodic mventory sysiem only.

¢. both a periodic and perpetual inventory system.

d. neither a periodic nor perpetual inventory system

31. The current Assets section of the balance sheet should include

2 |Land ¢._| Cash and Cash equivalent
m Imangible assets d. | Long-term Notes receivable
32. Purchase of inventory is treated as:
Under Periodic Uunder Perpetual
Iuventory system Izventory system
a Asset Expense
b. Expense Asset
€: Expense Expense
d. Asset Asset

33. During the current year, merchandise
merchandise sold is $450,000. What
{2 |s4a75.000

is sold for $300,000 cash and for $62
is the amount of gross profit?
| b. [ $925.000

EEI

5,000 on account. The cost of
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gan the accounting period with 3 35

.~ Accounting period Pineapple

e awount; Teceivable account at the end pr s
on this informatiop alone, the cash ¢

000 debit balance 1 -
1 ity <

oo  FEVENUE 0n acequny o - LOWIS feceivable

Ceoun E period Contained , g %10 517,000,

llected from acoounts receivable durip

5200. How much is the

L2 T3400

.| Accounts Payable.
m Purchase Retums and Allowances d [n?}\—'

3. l%zirnCompany had the following amounts related to its Invento

ry: Beginning inw, :, $13,000;
s, $42,000; and ending inventory, $9.000. How much is the cost of gc—odsms:gg,‘?

eight costs are debited to Freight-Owt

purchases on account are debited to Inventory
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